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1. XDOA% sin, cos D1RATEE. (SHK1 07407, A2 30%, Bikay, C#65)

(1) cos? 0 (2) sin’ 0

(3)  sin®6 4 cos® 6
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2.

(1)

3)

RDA% sin , cos D1 RATRE. (SHK1740%, Afh275 308, Bikdsr, CHko6sr)

sin @ cos 6 (2) cos? 6

2sin® 0 — cos3 9
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1. XDOA% sin, cos D1RATEE. (SHK1 07407, A2 30%, Bikay, C#65)

* ZABRBORETIFOX Yy MIBERLPIWVI L.

(1) cos? 6 (2) sin? 0
1+ cos20 _1—cos20
N 2 N 2
* AN * FAN

(3)  sin®6 4 cos® 0

* ZEAOAT

sin30 = 3sinf — 4sin®0
cos30 = 4cos®0 — 3cosb
RS sin® 0 — 3sinf — sin 30 cos® 0 — 3 cosf + cos 36
’ o 4 ’ o 4

Bt — 3s1n9;sm39 i 300891—00839

= isin0—|— %cos@— %sin30+ %COS30

4

Sl fiE
5.3 = (sin 6 + cos 0) (sin® @ — sin  cos 6 + cos? 0)

= (sinf +cosf) (1 — isin29
( 2

:sin9+cost9—%sin?@sin@—%sin%cos&

. 1. 1,. . 1 1
251n9—|—6059——'—(sm39—|—sm9)——(——) (cos 30 — cos 0)
2 2 2 2

. g 1 I 1 g 1
=sinf + cos 0 4511139 451n9+ 4c0530 4c059

= —%sin39+ %cos30+%sin9+ %cose
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RDA% sin , cos D1 RATRE. (SHK1740%, Afh275 308, Bikdsr, CHko6sr)

* ZARBORETIFOXY Yy NEEALPIVZ L.

(1) sin 6 cos 0
= 1 sin 260
2
(3)  2sin®6 —cos® 0

* =EADOAT

sin30 = 3sinf — 4sin®0
cos30 = 4cos®0 — 3cosb
Nnohs 5111302M cos® 0 =
) 4 b)
g‘ﬁ:Q.?’sinﬂfSinSQ ~ 3cosf 4+ cos 36
4 4
_ 3o Lnag_ 3 _ 1
=5 sin 6 5 sin 30 1 cos 6 1 cos 30
3

sin @ — icos@— lsin30— lcos39
2 4 2

(2)
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cos? 0

_ 1 + cos 260
2

* A/

3 cosf + cos 30
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